8
-

THO2EE B2 ATHKINFPEER!

PuiE - AR R [EiRIER]

—_INZ2T v FIR—)LBFEARS

1 B8 12 TH22578108 (H)-118 (@) -178 (1)
S =1BooBREIEFRAIEXTSsS : SO cag==F>d 1
BaT ©) ) €) @ © ® Ry | RS XERIE, B
188 | 930 | 1000 | 1100 | 1200 | 1330 | 14:30 %Z‘QE'CEE%
288 | 930 | 1000 | 11:00 | 1200 | 1300 | 1400 | 1500 1
388 930 | 1035 | 1140 | 1300 | 14:10 1530 [KIZ&b,
2 = B £188 (8F) - E%ﬁ (C-DI—I) £288 &@F) - - -HFRIMSEE (E- FO—FH)
£388 (%&S#EI) NBFPRSE %EE (A-B3d-F)
3 #EER BF---FBr—F AV - BB —TR gF-- =7, Ef4F—LRBE—J
(5—D—5-6—5—1D—50n4Q#l] (\— 794&@%@&% F1’7:1\BJ"C VIN—F v
4 f@IEHE
L 5B =& 1 [ZX3 i ME ARSI

<F=3F&> 7/10(D)

RS 9L

‘_L?

L ci cz ¢
5 2 5 SS=F @ % ABHOOPS
=] 2 =| 5] it 5 EBE E D INER
F3 E5m IR
| D3 | | D4 | B4 B ® ISR
@ | o4 c5 17 | (BASHEF—A)
25 @ AIBHOOPS - 601\
<3REEV— 77> 7/101) - 7/17(D)
35 65
5@ ¥
38 (25
® -
32| 31 52)(39
g = AIBHOOPS
C Z =/ - - - [SKsSD — ADEXSIC
<F=3FEM) — 27> 7/11(B) Y—FK- IEF' B58 -8 (BRI ES5m—AB, 85 —K50x1EI3E#TD]
EET L PARL—Y - 2148, BEE1.08
1R85/ 45 g =
(509 (49) QAN
b
10 @ 24 16 24 17 ©
20FER 38R | S5BRE S5z ShiEe O KIF
1085 <RBEU— 77> 7/118) - 7/17(1)
@ @ 20 30 (=z= @ B & = 2 |
RS = HEBRS E'::}F'j ’J\%&
@ 54 2 B30 AlB
T4 £ %'ﬁ%&‘
19 18 B1
[EBXELEIBTF—A)
£E51t [iSEs]d 15122 30| 20
22 @ E 5 X B 85 - £58 - AIBHOOPS
o7 @ L J
5 Zof
(1) 88218 (1) ~238 (B) CHNNBE2 40K TNHEBEI =/\27 v M R—LEFHEASR (EHRIHK) [CH
BIZREDTF — A, BOF—LDDE C—EHD T —% L CHAIE> TE TS, CRRERTD LET,



